REL BUE L

5 HESE - PNEFEERD Eifz e
FE BERE - PNIREE (BIER) T2 I EB R ES
ATRERE | EBERE 1,260,636F E=&wBIE 500,000H t55% © 1,760,636
A (B [m)
18 B FEEE RERE fiis =
Wi EBREERmE 1,824,615 1,760,636
e 326,000 284,233 £ EF B — L - FRABHEREAKRSEE
BENAE 215,000 147,615|FBFENA - FfTE
BEIR 789,735 649,060 85 - 1 HhHE
0 0
0 0
EEREE (FoEkRO) 0 0
& Hi 3,155,350 2,841,544
X W (Efz . M)
% - HHETE NSRS
» B = F R A EERE | oroupusTes| O bHEPEE| BELE [HCoeouges| D bREBESE
1 |[BE&/BIE/Sta—Iib 206,090 204,918 102,459 193,644 186,490 120,000
2 | B K EIER R ED 232,210 232,210 174,157 193,879 193,879 110,000
)
B X
3 |®E/kOo—Iib 0 0 0 0 0 0
4 M FRIHENEE) 0 0 0 0 0 0
Fry -
HhE
5 |xy F7—0EERER 9,000 9,000 6,750 9,000 9,000 9,000
6 [StLd LEERS 117,950 117,950 88,462 71,871 71,871 70,000
- 7 |FECTHOY 93,000 93,000 69,750 90,449 90,449 90,000
8 | B 50,000 50,000 37,500 50,000 50,000 50,000
Rz
9 |~y bR RIL[EIYY 0 0 0 0 0 0
RiE 10 |1 7EE) 33,650 33,650 25,237 11,381 11,381 11,000
23.= |11 [ E#HE 475,200 475,200( 237,600 370,395 334,204 70,000
74 12 |#H 733,300 733,300( 366,650 722,406 722,406 500,000
X1t 13| R v IRE 170,200 170,200 85,100 113,258 113,258 64,169
AR=Y [ 14| R =T 4 K& 40,650 40,650 20,325 29,649 29,649 6,467
e 15 [[53R 147,500 147,500 110,625 168,532 168,532 160,000
EEFE I — LEE 46,000 4,233
FRNEHER RS 280,000 280,000
OB R OB 2,634,750 2,307,578| 1,324,615| 2,308,697 1,981,119| 1,260,636
(5 BbRIYENRY RRE) 0 0 0 0 0 0
B o2 B & 520,600 520,600 500,000 532,847 532,847 500,000
X £ E & 8 % 0
(5 BB EBRESEEREAS) 0
& &t 3,155,350 2,828,178 1,824,615| 2,841,544 2,513,966 1,760,636
R BN E@mBNEX 57.40% 63.63%




